®6 WXASILMEBREMERNR

(B2 7/ me)

=5 4 A 5 A 6 A 7 A

X =1.4 ~3.4 ~54 ~10.4 ~20.4 20.5= &F =34 =10.4[ =1.4 ~3.4 ~5.4 ~10.4 ~20.4 20.5= &HiF =3.4 =10.4[ =1.4 ~3.4 ~54 ~10.4 ~20.4 20.5= &HFt =3.4 =10.4| =1.4 ~3.4 ~54 ~10.4 ~20.4 20.5= &F =3.4 =10.4
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %

A ¥ 97.9 2.1 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 100.0 1000 100.0 100.0
E A 91.0 9.0 100.0 100.0 100.0 ] 96.8 3.2 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 94.4 5.6 1000 100.0 100.0
=] 96.1 3.4 04 1000 99.6 100.0] 96.2 3.4 0.4 100.0 99.6 100.0 | 97.3 1.9 0.4 0.4 1000 99.2 99.6( 965 2.7 0.8 0.0 100.0 99.2 100.0
% & |100.0 100.0 100.0 100.0 ] 97.2 2.8 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 100.0 1000 100.0 100.0
% W 925 7.5 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 94.5 5.5 100.0 100.0 100.0 | 97.1 2.9 1000 100.0 100.0
BB 96.3 2.3 1.4 100.0 98.6 100.0 | 98.5 1.5 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 98.2 1.1 0.7 100.0 99.3 100.0
B i 98.9 1.1 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 97.3 2.7 100.0 100.0 100.0 | 95.6 2.7 1.6 0.0 1000 98.3 100.0
H & 98.8 1.2 100.0 100.0 100.0] 99.2 0.8 100.0 100.0 100.0] 94.9 3.5 1.6 100.0 98.4 100.0 | 98.9 1.1 0.0 100.0 100.0 100.0
+ B 99.3 0.5 0.1 0.1 1000 99.7 100.0] 99.2 0.5 0.2 0.1 100.0 99.7 100.0 | 98.4 L2 00 02 0.1 1000 99.7 9991 988 09 02 0.0 100.0  99.7 100.0
B 98.1 .5 02 0.2 100.0 99.7 100.0 | 97.7 1.6 0.4 0.3 1000 99.3 99.7] 97.3 .8 03 03 02 1000 99.1 99.8] 98.7 1.1 0.0 0.3 100.0  99.7 100.0
R E 99.4 0.5 0.1 1000 99.9 99.9] 98.9 1.0 0.1 100.0 99.9 100.0 | 98.4 .2 03 0.2 100.0 99.6 100.0 | 97.8 .8 03 0.1 100.0 99.6 100.0
wm E 98.6 1.1 0.3 100.0 99.7 100.0 | 98.1 1.5 0.2 0.1 1000 99.6  99.9] 98.1 .3 04 0.1 0.1 1000 99.4 99.9] 98.5 .3 0.1 0.1 0.0 100.0 99.8 100.0
= A 99.3 0.7 100.0 100.0 100.0] 99.7 0.3 100.0 100.0 100.0] 99.5 0.5 100.0 100.0 100.0] 98.9 0.9 0.2 1000 99.8 100.0
2 W 99.2 0.8 100.0 100.0 100.0] 99.5 0.5 100.0 100.0 100.0] 99.3 0.7 100.0 100.0 100.0] 95.9 4.1 1000 100.0 100.0
E 1 98.8 10 0.1 0.1 00 1000 998 100.0| 987 1.1 0.1 0.1 0.1 1000 997 999 982 13 0.2 02 0.1 00 1000 995 999 983 14 0.2 0.1 00 1000 99.7 100.0
284 ) 98.5 L2 02 0.1 100.0 99.7 100.0 | 98.7 1.0 0.1 0.1 0.0 1000 99.7 100.0] 98.8 0.9 0.1 0.1 0.0 100.0 99.7 100.0 | 98.5 1.4 0.1 0.1 100.0 99.8 100.0
QTAEJE-Y) 98.6 1.0 0.1 0.2 0.0 100.0 99.6 100.0] 98.9 0.9 0.1 0.1 0.0 100.0  99.8 100.0 | 98.6 1.0 0.1 0.2 0.1 100.0  99.6  99.9] 98.5 1.1 0.2 02 0.0 100.0 99.6 100.0

X5 8AH 9 R 10 A 11 A

Hh[X <14 ~34 ~54 ~104 ~204 205= AFt =84 =104| =14 ~34 ~54 ~104 ~204 205= &HiFH =34 =104| =14 ~34 ~54 ~104 ~204 205= AFt =84 =104 =14 ~34 ~54 ~104 ~204 205= &HiFH =34 =104
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %

A ¥ 98.1 1.9 100.0 100.0 100.0 | 91.9 L7 41 2.4 100.0 93.6 100.0 | 98.1 1.9 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0
E A 89.1 8.5 2.4 100.0 97.6 100.0 | 100.0 100.0 100.0 100.0 ] 93.2 2.4 4.4 100.0 95.6 100.0 | 100.0 100.0 100.0 100.0
=] 96.7 1.3 0.9 1.0 1000 98.1 99.0] 98.2 .8 0.0 100.0 100.0 100.0 | 97.8 1.8 0.4 1000 99.6 99.6  98.7 1.3 100.0 100.0 100.0
% & |100.0 100.0 100.0 100.0 | 97.4 2.6 1000 97.4 100.0] 97.4 2.6 100.0 100.0 100.0 | 94.1 3.1 2.9 1000 97.1 100.0
#% W |100.0 100.0 100.0 100.0 | 100.0 100.0 100.0 100.0 | 94.7 5.3 100.0 100.0 100.0 | 100.0 1000 100.0 100.0
BB 96.7 3.3 100.0 100.0 100.0 | 98.2 1.8 100.0 100.0 100.0 | 97.2 1.5 1.3 100.0 98.7 100.0| 97.6 2.4 100.0 100.0 100.0
B i 94.7 2.9 1.2 1.2 100.0 97.5 100.0 | 97.1 2.9 100.0 100.0 100.0 ] 93.2 4.5 1.2 1.1 100.0 97.7 100.0 | 98.3 1.7 100.0 98.3 100.0
B & |[100.0 100.0 100.0 100.0 | 98.7 1.3 100.0 100.0 100.0 | 99.1 0.9 100.0 100.0 100.0 | 100.0 1000 100.0 100.0
+ B 98.3 1.3 0.4 100.0 99.6 100.0 | 98.8 1.0 0.1 0.1 100.0 99.8 100.0] 99.0 0.9 0.1 100.0 99.9 100.0 | 98.8 1.0 0.1 0.1 100.0 99.8 100.0
B 98.7 .o 02 0.2 1000 99.7 100.0] 99.0 0.7 0.2 100.0  99.8 100.0 | 99.1 0.6 0.3 1000 99.7 100.0] 98.8 0.9 0.3 100.0  99.7 100.0
R E 98.2 1.1 0.5 0.1 0.1 1000 99.3 99.9] 98.7 1.1 0.2 100.0 99.8 100.0 | 98.0 .3 04 0.1 0.2 1000 99.3 99.8] 98.4 1.4 0.2 100.0 99.8 100.0
wm E 98.0 4 02 04 0.1 1000 99.4 99.9] 97.1 L7 05 07 100.0 98.8 100.0 | 98.6 1.1 0.1 0.2 1000 99.6 100.0] 99.2 0.7 0.1 100.0 99.9 100.0
= A 98.7 1.0 0.3 100.0  99.7 100.0 | 99.7 0.3 1000 99.7 100.0] 99.2 0.5 0.3 100.0 99.7 100.0 | 98.8 1.2 100.0 100.0 100.0
2 W 99.3 0.7 100.0 99.3 100.0 | 100.0 100.0 100.0 100.0| 97.7 2.3 100.0 100.0 100.0 | 98.4 1.6 100.0 100.0 100.0
E 1 98.2 12 0.2 03 0.1 1000 995 999 | 986 1.0 02 02 1000 996 100.0| 985 1.1 0.2 0.1 00 00 1000 996 999 ]| 988 1.1 0.1 0.1 1000 99.8 100.0
284 L) 97.7 .8 03 0.1 0.0 100.0 99.5 100.0 ] 98.3 3 02 02 00 0.0 1000 99.6 100.0| 99.0 0.8 0.1 0.1 0.0 1000 99.8 100.0] 989 0.8 02 0.0 0.1 100.0  99.7  99.9
QTR 98.5 1.2 02 0.1 0.0 100.0 99.7 100.0] 98.8 0.9 0.2 0.1 0.0 0.0 100.0 99.7 100.0 ] 99.1 0.6 0.1 0.1 0.0 100.0 99.7 100.0] 99.0 0.8 0.2 0.0 100.0 99.8 100.0




(B2 7/ me)

X5 12 A 1 A 2 R 3 A
X <14 ~34 ~54 ~104 ~204 205= &F =34 =104| =14 ~34 ~54 ~104 ~204 205=< AFt =34 =104| =14 ~34 ~54 ~104 ~204 205= &F =34 =104| =14 ~34 ~54 ~104 ~204 205= &t =34 =104
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
B O |100.0 1000 100.0 100.0 |100.0 1000 100.0 100.0 |100.0 1000 100.0 100.0 [ 98.2 1.8 100.0 100.0 100.0
£ 0 95.7 1.7 26 1000  97.4 100.0 |100.0 1000 100.0 100.0 [ 97.3 2.7 1000 97.3 100.0 |100.0 1000 100.0 100.0
=] 98.1 1.5 0.4 1000 99.6 100.0 [ 98.4 1.2 0.4 1000 99.6 100.0 [ 98.0 1.5 0.5 1000 99.5 100.0 [ 97.9 2.1 1000 100.0 100.0
% & |100.0 1000 100.0 100.0 |100.0 1000 100.0 100.0 | 97.4 2.6 1000 97.4 100.0 |100.0 100.0 100.0 100.0
¥ 1 ]100.0 1000 100.0 100.0 |100.0 1000 100.0 100.0 [ 97.4 2.6 1000 100.0 100.0 [ 96.8 3.2 100.0 100.0 100.0
E B 95.9 2.7 1.5 1000 98.5 100.0 [ 97.4 1.6 1.1 1000 98.9 100.0 [ 99.4 0.6 1000  99.4 100.0 |100.0 1000 100.0 100.0
B iR 97.9 2.1 1000 100.0 100.0 [ 96.1 1.7 2.1 1000 97.9 100.0 [ 97.2 2.8 1000 100.0 100.0 [ 97.9 2.1 1000 100.0 100.0
B & [100.0 1000 100.0 100.0 [ 99.3 0.7 1000 100.0 100.0 |100.0 1000 100.0 100.0 [ 97.7 2.3 100.0 100.0 100.0
+ B 98.4 1.4 0.1 0.1 1000 99.8 100.0 [ 99.1 0.8 0.1 1000 99.9 100.0 [ 98.9 1.1 1000 100.0 100.0 [ 98.9 0.8 0.1 0.2 1000  99.7 100.0
oS 99.0 0.7 0.1 0.2 1000 99.7 99.8| 984 0.9 0.5 0.2 1000 99.3 100.0 [ 98.6 1.3 0.2 0.0 1000 99.8 100.0 [ 98.6 1.2 0.2 1000  99.8 100.0
B = 98.2 1.2 02 02 01 0.1 1000 99.4 99.8| 989 0.9 0.1 0.2 1000  99.7 100.0 [ 99.4 0.6 1000 100.0 100.0 [ 98.6 1.3 0.1 1000  99.9  99.9
H E 98.1 1.6 0.1 0.2 1000 99.7 100.0 [ 98.9 0.7 03 0.1 1000 99.6 100.0 | 98.0 1.6 0.1 0.3 1000 99.6 100.0 [ 98.7 1.2 0.1 1000  99.9 100.0
= B 98.7 1.1 0.3 1000  99.7 100.0 [ 99.2 0.8 1000 100.0 100.0 [ 99.1 0.9 1000 100.0 100.0 [ 98.2 1.3 0.5 1000  99.5 100.0
2 8 95.8 4.2 1000 100.0 100.0 [ 94.9 5.1 1000 100.0 100.0 |100.0 1000 100.0 100.0 [ 97.1 2.9 100.0 100.0 100.0
E 1y 983 13 01 02 00 00 1000 997 999 988 10 02 0.1 1000 997 1000| 988 11 01 01 00 1000 999 1000| 986 12 01 01 00 1000 99.8 1000
2REEPEH 984 1.2 0.1 0.2 1000 99.7 100.0 [ 98.8 0.9 02 0.0 0.1 1000 99.7 99.9( 986 1.2 01 00 0.0 1000 99.8 100.0 [ 98.6 1.2 0.1 0.0 0.1 1000  99.7  99.9
QTAEPEH 987 1.0 0.1 0.1 0.0 1000 99.8 100.0 | 98.8 0.9 0.2 0.2 1000 99.7 100.0 [ 99.0 0.8 0.1 0.1 1000 99.7 100.0 98.9 0.9 0.1 0.1 0.0 1000  99.8 100.0
X5 * #9(4A~3A8) 5 ZRIEEERBERU*ILL)
Hh[X <14 ~34 ~54 ~104 ~204 2055 &F =34 =104 <14 <34
% % % % % % % % % % %
P 98.7 0.8 0.3 0.2 1000  99.5 100.0 97.6 (L.1) 99.8 (-0.3)
0 9.5 25 02 0.8 1000 99.0 100.0 96.7 (-0.2) 97.6 (1.4)
=] 975 2.0 02 01 0.1 0.1 1000 99.5 99.9 97.8 (-0.3) 99.7 (-0.2)
% & 98.6 0.7 0.4 0.2 1000  99.3 100.0 99.3 (-0.7) 99.6 (-0.3)
¥ W 97.7 2.3 1000 100.0 100.0 97.3 (0.4 99.3 (0.7)
E B 98.0 1.5 0.3 0.2 1000 99.5 100.0 98.8 (-0.8) 99.8 (-0.3)
B iR 97.0 2.1 0.6 02 0.0 1000  99.2 100.0 98.7 -1.7) 99.8 (-0.6)
B 5 989 1.0 0.1 0.0 1000 99.9 100.0 98.9 (0.0) 99.7 (0.2)
+ B 988 1.0 0.1 0.1 0.0 1000  99.8 100.0 98.8 (0.0) 99.8 (0.0)
8l B8 985 1.1 02 0.1 0.1 1000 99.6  99.9 98.5 (0.0) 99.7 (-0.1)
B =E 986 1.1 01 0.1 0.0 0.0 1000 99.7 99.9 98.4 (0.2) 99.7 (0.0)
H E 983 1.3 0.2 02 0.0 1000 99.6 100.0 98.4 (-0.1) 99.6 (0.0)
= B 99.1 0.8 0.1 0.1 1000  99.8 100.0 99.6 (-0.5) 100.0 (-0.2)
2] 98.1 1.8 0.1 1000 99.9 100.0 97.0 (1.1 99.5 (0.4)
E 1y 985 11 02 01 00 00 1000 99.7 1000 98.6 (-0.1) 99.7 (0.0)
28AEFELI 986 1.1 0.2 0.1 0.0 0.0 1000 99.7 100.0
QTAEFEY 988 09 0.1 0.1 00 0.0 1000 99.7 100.0




